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ECE-320, Quiz #9
1) Consider the closed loop system below:


[image: image2]If we want to use a dynamic prefilter to cancel the closed loop zero and produce a zero position error, we should choose the prefilter as
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   e) 
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2) Is 
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 an acceptable prefilter (for any system)?

a) Yes    b) No

3) Is 
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 an acceptable prefilter (for any system)?

a) Yes   b) No
Problems 4- 5 refer to a system with state variable feedback with the transfer function
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4) Is this system controllable?

a)  Yes     b)  No   c) impossible to determine

5) What is the approximate bandwidth of the open loop system?

a) 2 Hz    b) 2 rad/sec  c) 
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 rad/sec   d) 10 Hz 

6) Consider a plant that is unstable but is a controllable system. Is it possible to use state variable feedback to make this system stable?

a) Yes   b) No  
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blems 7-9 refer to the following Bode plot of 
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 for the following closed loop system
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7) The phase margin for this system is best estimated as
a) 
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   b) 
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    c) 
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  d) 
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8) The gain margin for this system is best estimated as
a) 0  dB  b) 
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 dB  c) +10 dB   d) -10 dB

9) Assuming 
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 is minimum phase, is the closed loop system stable? a) Yes     b) No  
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